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Practise 3. What is 5, for each geometric series
1. Determine whether sach series is described? Express your answers as exact
geometric, Justify your answer values in fraction form.
a) 4 + 24 + 144 + 864 4 - a) {, =12.r=2.n= 10
1
b) —40 4+ 20 — 10 +5 — + b) t1=2?.f'=§.11=8
: - 1
c) S 9 18 4 = = — =
) 3+ 9418+ 54 + €t =yopr=—4.n=10
d) 10 + 11+ 12.1 + 13.31 + - |
d) {, =72.r= o= 12
2. For each geometric series, state the values =
of £, and r. Then determine each indicated 4. Determine 5, for each geometric series.
stun. Express your answers as exact Express vour answers to the nearest
values in fraction form and to the nearest hundredth, if necessary.
hundraedth. a) 27 49 LI+ ?;3
a) 64+ 9+ 135+ (5] -
b) -+ 2 +22 4. 128
b) 18 -9 +45+ - (5] 3 ' 9 27 6561
€) 21 +42 +84 + - [5]) €} {,=050,1,=81920.r=4
d) 0.3 + 0.003 + 0.000 03 + - (5,,) d) {, =3.t, =46875,r=—-5
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